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-17 1.b. -17 lc. x=4 1.d. x=5
la
2
le. y =5 1f. x=-12, 19 1.h. y=10,
= 1g. x= —, = -
= -13 X=6 g 12 y=-14
3 -1
X=—
12
1.i. No solution — _
2a. y= —Xx+3 2. b= 2=C 2c. C:E(F—32)
2 a 9
3 3a x<-4 a>-9 3.c. b>-8
2d. x==y-3 3.b.
5 y (— oo,—4) [-9,) (— 8, oo)
8 -4 0 4 -9-6-30 3 8 -4 0 4
a>4 3.e. x>-3and 3f x<-6or 3.g. x>-1 and
30 14 0) X <2 x >11 x<7
(-32) (—o0,—6) J11,0) [-17]
———
0 4 8 12 -
6 -3 0 3 6 | |
-12-6 0 6 12 8 0 8 16
3.h. x>10 or 4.a. X |Y ||4Db. X | Y |]|4c. X |Y
x< =20 -2 | -5 4 | -2 6 | 7
(~ 0,~20] U [10, 0) 1|5 4 | -1 3|5
0 | -5 4 0 0 3
1 | -5 4 1 3 1
2 | -5 4 2 6 | -1
-30-15 15 30
4.d. X Y 5.a. Xintercept: 5.b. Xxintercept: 5.c. xintercept:
8 | 7 (40), ®0). (-20).
-4 -4 y intercept: y intercept: y intercept:
0 | 1 02) (0.-4) 06)
4 2
8 5
5.d. xintercept: 6.a. A) m=-4 4 6.c. Am=-3
(-30), B)b= 14 6.0. Aym= 3 B) b =15
y intercept: C)y=-4x+14 B)b = C)y=-3x+15
(0.5) 4
C)y= 3 X—3
6.d. Am=-1 6.e. A) m =undefined 6.f. Am=0 — 3
B)b=-1 B) no y intercept B)b=2 ra. y= —X-——
Oy=-x-1 C)x=-3 C)y=2 5 5
- 3
7.b.y:7x+4 7.c. y=-2x+13 7.d y=5X+2 76 y=2x+5
8a. (2,1) 8b. (31) sc. (04) 9a (-12)
9.b. (2,-4) 9c. (2-3) 10a. (11) 10.b. (0,-2)
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10.c. (-54)

11.See graphs for a, b,
and c.

12.a. —9x° +9x* + x* —7x? +5x

12b. —7x2 +17 12.c. 12.d. 12.e.
—7x® —6x* +8x+6 9y? —10y —-15 10x® —16x* —6x -2
12.f. 18x* +6 13.a. 13b. y?-9y-36 |13cC
20a™ —20a° +80a°® 4a* —29a+30
13.d. —100x2y® 13e. 9x* + 24x +16 13.f. 139.
Ox® —18x* +72x® | 5y? +42y - 27
13.h. 64y? -1 13.. 16x2 —49 13, 13k 60x°y®z°
x® —2x* -8x-5
13.1. 14.a. 14.b. 14.c. (x + 4)()( _ 8)
25x2 —110x +121 5y(y —2)y -2) (x +11)(x - 3)

14.d.
4a’b?*(b + 2a - 3)

l4.e. (y - 3)(y - 7)

145 3(x+5)x - 2)

14g. (2x +3)x +1)

14.h. 140, (x+6)(x—6) 14.]. 14k
(2x —3)3x +5) 5x(x + 3)(x - 3) (Bx+2)(x—4)
2 15.a. x=-5and 15.b. x=-8and 15.c. x=-7and
141 (2x+5) X Y L
15.d. x=-1and 15.e. x=-2and 1 3
2 X =2 and 15f. x=—-—— and 15,9g. X=-—and
X= = =0 5 2
3 x=3 1
X==
2
15.h. x =5 for both 3 1 X+ 2
solutions 15. X =—— and 16a. — 16.h.
2 X+Yy X+1
5
X ==
3
16.c. —X-—7 X—4 2X+5 16.f. 4x-1
16d. 16.e.
2(x +4) X+ 4
16.9. 16.h. —6a’c’ 160, X(x+2) 17a. 2
6x° +9x -4
17.b. EX+7 17.d. -7
17.c. 17.e.
__X+6 (x+1)x+2) 1 (y-8)y+6)
(x+4)(x+1) (2x +1)(x +5)
17.1. 184 X+2 185 X+5 18c 3x+4
—X+4 .a. .0D. .
AT S X— X—3 X—-9
X(x +3)(x + 2)
—_ 19.a. x=3
18.d. E 18.e. & 18.f. X+9
4 (x—4)x-1) X
19.c. x=2 19.d. x=0 19e. y=-9
19b. X=— y=2
is not a
solution
19.f. x=19 20.a. -32 y6 1
20.b. 20.c.
64x° 27x°
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20.d. 2y° 20.e. 3°=19,683 20f. 16¢* 209 - 1
.g. 5
5 20.. 1. b 7
20.n L 20j. — 20k L
x? a x?
3 4.,9 2
0l 2y2 21.a. 2431 21.b. 8x*y’,/5y 21.c. 3 Xy 42X
X
21.d. 8 x2y,/xy 21e. 8 ab%+/3a f 2a°bh‘~/a 21.9. —20x%y%,[3y
21f, ——
C2
- 53 21i 2 yX 21j. 2i+/3 21k 3410
211 9i4/3 22.a. (5 32)2=4 22.b. (J2_5)3=125 22.c. (3—27)2=9
5 4 2
22d. J4y° =2y*y 22.. (3 64) =1024 22.1. («3/—125) =625 | 534 y3
2 4 3 2
23.b. 75 23.c. X5y5 23.d. (5x)s 242 2043
24h. —333 24.c. 12415 24.d. 5542 24e. —564/2
24f. —19+543 24.9. —810 24h, 64J3-5J6 |25a 342
255, 245 /6 G 543 e 9
C. — 25d. ——
3 3
o5t m 26.a. y=34 26.b. y=12 26.c. );é and
26.d. x=98 26.e. x =3 does not check, 26.f. y=26 27.a. 2i
so there is no solution
27b. 2i \3 27.c. -10 28.a. —2+4i 28.b. -5-3i
28.c. 17 +2i 28.d. -—-19 +4i 28e —6+12i 28.f. 38 + 16i
28 9. _4\/5 28.h. 88-66i 28.i. 34 29.a. §252 and
29b. x=8 and x=9 29.c. x=-5 and x=-4 30.a. x=-3 and x=5
30.b. X=+2i/6 30.c. X=-2+2+2 30.d. x=-1 and x=9
30.e. x=-8 and x=-6 | 35t y=—+5./3 3la. x=1 and x=11
3Lb. x=2%2i 3lc. Xx=-3+3+3 31.d. x=5+23
3le. X=-4+442 31f. x=-1+3i 32a X=2+47
: 32.c. x=-5 and x=10
-3+
4
32.d. Xx=2+2i7 2+i/2
32.e. 3
32f. x=0 and x=5 33.a. Vertex: (-2,-2)
Y intercept: (0,2)
Axis of symmetry: x = - 2
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33.b. Vertex: (0,—1) 33.c. Vertex: (3,1)
Y intercept: (O,—l) X intercepts: (4,0) and (2,0)
Axis of symmetry: x =0 Y intercept: (O,—8)
Axis of symmetry: x = 3
33.d. Vertex: (-2,-10) 33.e. Vertex: (-3,-2)
Y intercept: (0,-6) Y intercept: (0,7)
Axis of symmetry: x = - 2 Axis of symmetry: x =-3
33.f. Vertex: (O,—4) 34.a. Center: (0,0),
Y intercept: (O,—4) Radius: 4
Axis of symmetry: x =0
34.b. Center: (5-2), 34c. (x+5) +(y+3) =64
Radius: 5 Center: (— 5,—3), Radius: 8
34d. (x+3)* +(y—-4)° =49 35a. (x—6) +(y+3)° =4
Center: (— 3,4), Radius: 7
3sb (x+2) +(y+7) =7 35c. x> +(y—8)° =36
35d. (x-2) +y? =16 36a. n=52
36.b. 1% integer = 55 36.c. width =39 feet

2" integer = 57
3" integer = 59

length = 91 feet

36.d. First number: x =14 or x =-15
Second number: x + 1=15or
X+ 1=-14

36.e.

First number: x =18 or x =-20
Second number: x + 2= 20 or
X+ 2=-18

36.f. Yes, itis a solution

36.9.

x =20

36. h. m=200

36. i.

x? +5x—14
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-2
4a y=-5 4b. x=4 4.c.y:Tx+3
4.d y—3x 1 5a. Y= 1x+2 5.b y—lx 4
.d. 2 a. > .b. >
I~
5
5. y=3x+6 5.d. y:§x+5 6.a. y=-4x+14
1/ | \d
/.
N\
/
A iy A & D 1 5 \
/ )
AN
4
6.b. y=—x-3
3 6.c. y=-3x+15 6.d. y=-x-1
AN
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3x+ 6y =12

6.e. x=-3 6.f. y=2 8.a.
2y =4x -6

Solution at (2,1)

2% + By =12 y=-2x+4
8.c. 3 1lla. y<-2x+3
3X=2y=7 y:§x+4
Solution at (3,1) Solution at (0,4)
: , _____
= ~ 5 -
~ 1 >
¥ 1) ~ N /////////
e ____
A i
A 2 )
N
-
N
11b. —x+2y>-8 11.c. 5x-3y > -15 33a y=(x+2) -2

y',«' /

///%/%

/ ,
////////////////////

Vi

P4 X 7
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33b. y=-—x" -1 33c. y=—(x-3) +1 33d. y=x’+4x—-6
\ 1 /
\ /
\ /
¢ \ /
\ /
1 4 b \5 ) b 1 /
7 \ opif \ y
\\ -Z //
/ \ i/ \
/ \ o | .
33e. Yy=X"+6X+7 33f. y=-2x*-4 34a. x> +y°> =16
\ ] T
\ / ! 4 A
\ / -} -3 2 1
\ / C y
\ /
N AR
/ \
AR
A
! \
34b. (x=5) +(y+2)* =25 sac. (x+5) +(y+3)" =9
— —~— !
B Vz,,s 73\3 2 -1 )
/ N\
I / \10 1
\ / oS
T~ —

34.d.(x+3)" +(y—4)* =49




